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QUESTION 1

Consider the following requirements to be used in determining a vRealize Operations licensing model:

Authentication provided by Single Sign On Performance monitoring and analytics for 12 Hosts and 1 vCenter vSphere
security and compliance monitoring for PCI and HIPAA Guided remediation for discovered issues Customizable
dashboards, reports and views

Using the requirements, what is the minimum license that can be used for this deployment of vRealize Operations?

A. vRealize Cloud Universal Enterprise

B. Advanced

C. Standard

D. Enterprise

Correct Answer: B

QUESTION 2

A customer wants to deploy Workspace ONE Access for vRealize Suite users.

The customer wants to achieve the following requirements:

Availability SLA 95% uptime per month, calculated Monday-Friday, 24 hours per day.
The deployment footprint must be minimal.

Which design decision should the architect choose?

A. Deploy a Workspace ONE Access cluster and protect it with vSphere HA.

B. Deploy a Workspace ONE Access node and protect it with vSphere HA.

C. Deploy a Workspace ONE Access cluster and protect it with Fault Tolerance.

D. Deploy a Workspace ONE Access node and protect it with Fault Tolerance.

Correct Answer: C

QUESTION 3

An organization has a set of requirements for its private cloud:

Provide the ability to reclaim idle VMs deployed in vRealize Automation (VRA) Report on the health of resources
provisioned in VRA Calculate the cost of VMs provisioned in vRA Optimally place vRA deployment workloads to vSAN

and avoid contention

Which cloud management product should be integrated with vVRA to meet these requirements?
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A. vRealize Operations

B. vRealize Orchestrator

C. vRealize Suite Lifecycle Manager
D. vRealize Log Insight

Correct Answer: B

QUESTION 4

An architect is responsible for creating the design for vRealize Operations. The following requirements, constraints, and
recommendations were gathered:

Enable Continuous Availability Monitor two physical locations The sizing guide recommends deploying 5 analytics
nodes

What are two design considerations for the analytics node deployment? (Choose two.)
A. High Availability will need to be enabled

B. Extra Large Nodes must be used

C. Two fault domains need to be created

D. A sixth analytics node is needed

E. Anti-affinity rules will need to be created

Correct Answer: BC

QUESTION 5

An architect is designing a vRealize Log Insight cluster for an organization with the following requirements:
The organization has an external load balancer available to provide load balancing for various
requirements.

Due to budget constraints the organization need to reuse existing environment as much as possible.

What should the architect choose as the load balancing solution for the vRealize Log Insight cluster?

A. Use the integrated load balancer

B. Deploy a new external load balancer

C. Use the existing external load balancer

D. Use both integrated and external load balancers

Correct Answer: A
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